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Orange A

8 X6
Find the sum of : 13.9, 7.6 and 0.32

384 - 146

The time is half past 1. What will the time be in 10 minutes time? Give
your answer in words.

Caron has £4.50 in her pocket. She spends £1.27 in a shop. How much
does she have left?

What heading is missing on this place value table?
PLACE VALUE CHART |

Ten-Thousandths
Hundred-Thousandths

Decimal Point
Hundredths
Thousandths
Millionths

Hundred Thousands

Millions

Ten Thousands
Thousands
Hundreds

Tens

Ones

Mark shares 24 sweets between 6 people. How many sweets does each
person get?

Rosie is a nurse. She works 35 hours a week at the local hospital. How
many hours does she work in 2 weeks?



